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1 Introduction

There has been recent interest in the limit properties of voter turnout in costly voting
models (see, for instance Taylor and Yildirim (2005)). However, the focus of this
work has been on the so-called “private values” case—voters privately know which
candidate they prefer and the only strategic decision is whether or not to go to the
polls. A related literature pertains to the “common values” case—voter preferences
are determined by the realization of an unknown “state of nature” and each voter
receives a noisy signal about the state. This line of research has focused on how
differences in voting rules lead to differences in informational efficiency (see Feddersen
and Pesendorfer (1998)). However, this class of models does not consider costs of
voting.

In this paper, we analyze the common values case under costly voting. In our
basic model, voters each have privately known and independently and identically
distributed voting costs. In a variation of the model, in Section 4, we analyze the
case where voters have commonly known, identical and fixed voting costs. As we show,
the distinction matters to the informational efficiency of an election when voters are
strategic. In particular,

1. With private voting costs, majority-rule elections are informationally efficient
in the limit: as the size of the electorate grows large, the expected number of
voters is infinite and so the correct candidate is elected with probability one.

2. With common and fixed voting costs, majority-rule elections are information-
ally inefficient even in the limit: as the size of the electorate grows large, the

*Preliminary draft. Comments welcome.
fPenn State University. E-mail: vkrishna@psu.edu
HUniversity of California, Berkeley. E-mail: morgan@haas.berkeley.edu



expected number of voters converges to a finite limit and so the wrong candidate
is elected with positive probability.

Our model relates to the extant strategic voting literature as follows: (a) it adds
private information about voter preferences to the models of Palfrey and Rosenthal
(1983, 1985); (b) it allows for voting costs in the model of Feddersen and Pesendorfer
(1998); and (c) it parallels the analysis of Borgers (2004) and Taylor and Yildirim
(2005) for the common values case.

2 The Model

There are two candidates named A and B who are competing in an election in which
a simple majority of those voting is needed in order to be elected. Ties are resolved
by a coin flip. There are two equally likely states of nature, @ and . Candidate A is
the better candidate in state o while candidate B is the better candidate in state (3.
This means that in state o the payoff of any voter is 1 if A is elected and 0 if B is
elected. In state 3, the roles of A and B are reversed.

There is an electorate consisting of N potential voters. Prior to making the
decision whether, and for whom, to vote, each person receives a private signal S;
regarding the true state of nature. The signal can take on one of two values, a or b.
The probability of receiving a particular signal depends on the true state of nature.
Specifically,

Prla|a] = Prb| Bl =p

We suppose that p > % so that the signals are informative and p < 1 so they are noisy.
Conditional on the state of nature, the signals of the voters are realized independently.

Voting is costly and the costs of voting vary across voters. The cost of voting for
each voter is private information and determined by a realization from a continuous
probability distribution F' with support [0,¢]. We suppose that ¢ > p — % and that
F admits a density f that is strictly positive on (0,¢). Voting costs are indepen-
dently distributed across voters and independent of the signal as to who is the better
candidate.

Thus prior to the voting decision, each voter has two pieces of private information—

his cost of voting and a signal regarding the state.

3 Equilibrium

We will show that there exists an equilibrium of the voting game with the following
features. First, there is a cut-off level of the cost of voting, say ¢, such that a person
with a cost realization ¢; votes if and only if ¢; < ¢. Second, all those who vote do so
sincerely—that is, all those with a signal of a vote for A and those with a signal of b
vote for B.



Suppose that all N — 1 voters except 1 follow the strategy outlined above. We
will argue that person 1 should also vote according to his signal.

Suppose person 1 receives a signal S; = a. Denote by (k,[) the event that out of
k + [ voters other than 1, k vote for A and [ vote for B. Since all of these k + [ voters
vote sincerely, the probability of this event conditional on person 1’s signal being a is

Pr[(k,l) | S1=a] = Pr[{k,1)|a,S1=a]Pr|a|S; =ada
+Pr[(k, 1) | 5,51 =a]lPr[5 ]| S =al
Pr[(k,l) | o] Pria| Sy =a] +Pr[(k,l) | B|Pr[B | S1 = q]
P A =p) + (1= p)

where we have used the fact that Pra | Sy =a] =pand Pr[5 | S; =a] =1—p. For
future reference, it is useful to note that,

Pr((k,k)| Si=a] = p(1—p)"+@1-p)pk
= p"1-p)"(p+(1-p)
= p(-p)f (1)
and
Pri(kk+1) | Sy =a] = p"(1—p) +(1—p)HpH
2" (1 —p)**! (2)

If the threshold cost is ¢, then the probability that out of the other N — 1 people
exactly m come to the polls is

(") asFe 3)

m

The benefits of voting are positive if and only if the person is pivotal—that is,
either his vote breaks a tie or his vote results in a tie. The first event is of the form
(k, k) and the second event is either of the form (k,k + 1) or (k+ 1,%). In the event
that the other voters are tied, it is clear that 1 should vote for A since if he does so,
the probability that the right candidate is elected is p > % while if he votes for B,
the probability that the right candidate is elected is only 1 —p < % In the event that
the other voters vote in a way that B is winning by one vote, then 1 is indifferent
between voting for A or B. Finally, in the event that the other voters vote in a way
that A is winning by one vote, it is clear that 1 should vote for A since k + 1 voters
received a signals and only k voters received b signals. Thus, if all other voters vote
sincerely, voter 1 should also do so.

Next, suppose person 1 has a cost of voting of ¢;. Denote by L%J , the largest

N—1

integer smaller than or equal to ==. Using (1), (2) and (3), the difference in the



expected payoff to person 1 from voting versus not voting is

A = Z( ) (% (1= F ()" g1 (1= p) (p— )
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The kth term in the first summation represents a situation in which 2k other voters
show up at the polls and their votes are tied. In this case, by voting for A, the
probability that the correct candidate is chosen is p while if 1 does not vote, this
probability is % The kth term in the second summation represents a situation in
which 2k + 1 other voters show up and k vote for A while k 4+ 1 vote for B. In this
case, person 1’s vote will result in a tie and the correct candidate is chosen with
probability % If person 1 does not vote, then B is chosen and is the correct candidate
with probability % since, including 1’s signal, there are k + 1 signals in favor of both

A and B.
The expression above simplifies to

15y
= 2 (NQk: 1)F (@ A=F )" 1-p)" (p-3)

The equilibrium threshold cost ¢ is determined by the condition that a person
with cost ¢ is just indifferent between voting and not voting; that is, when

where
s=vp(L-p)e(0,3)
Writing ¢ = F'(c) as the quantile (“percentage”) of those voting, the equilibrium

condition becomes

N

M

< ) )" T (g™ = F ' (g) (4)

k=0

The left-hand side of (4) can be further simplified. For this we need to consider
the case when N is odd separately from the case when N is even.



CASE 1. N isodd, so N —1 = 2r for some integer r and L%J = r. The Binomial
Theorem implies that the summation on the left-hand side of (4) is

S () A= @™ = 3{0-a-09" + Qg+

k=0
— ta-0+9" - 1-50"
CASE 2. N iseven, so N —1 = 2r + 1 for some integer r and again L%J =T

The Binomial Theorem again implies that the summation on the left-hand side of (4)
is

- 2r+1 r+1— r r
Z( o )(1—q)2+1 #las)™ = L1 —q—a9)" +(1—q+qs)"]
k=0

a-+99 "+ 1= (1-59""]

Thus, for all N, the equilibrium condition can be written concisely as
- [0-0+99 " +1-1-99 ] = F (g (5)

Let ¢(q,N) denote the expression on the left-hand side of (5). Observe that
¢ (q,N) is continuous and decreasing in ¢. For all N, ¢ (0,N) = p — 3. When N
is odd, ¢(1,N) = 0 and when N is even, ¢ (1,N) = (p—1)s¥ ' < p— 1. The
right-hand side of (5), F~'(g), is continuous and increasing in q. F~*(0) = 0 and
Fl(l)=¢>p-1.

Thus, there always exists a unique equilibrium quantile ¢y satisfying 0 < gy < 1.
This in turn determines a unique equilibrium cost threshold cy = F~1 (qx) . We have

established

Proposition 1 There exists a symmetric equilibrium of the voting game with private
costs that has the following features: (i) there is a cost threshold such that every
person votes if and only if his private cost of voting is below this threshold; (ii) voting
18 sincere.

3.1 Asymptotics

We now examine how the equilibrium identified in Proposition 1 behaves as the size
of the electorate N grows.

Let gy denote the equilibrium quantile determined by (5), that is, ¢ (qn, N) =
F~Y(qy). Since ¢ (g, N) is decreasing in N, the equilibrium ¢y, < qy; that is, the
turnout percentage decreases as N increases. This, of course, is a feature shared by
other rational voting models.



Note also that the limiting turnout percentage lim gy = 0. Since ¢y is a decreasing
sequence, it has a limit and if lim gy = g > 0, then ¢ (¢, N), the left-hand side of
(5), is less than

L= [0 - g0+ + (1= g (1 9)"" (6)

As N — oo, the limit of (6) is zero. This is because s < 1 implies |1 — g (1 4+ )| < 1
and clearly, 1 — g (1 — s) < 1. Thus lim ¢ (¢, N) is also 0. The limit of the right-hand
side of (5), however, is £’ (¢») > 0. This is impossible, so lim gy = 0.

We thus have

Proposition 2 With private voting costs, the equilibrium turnout percentage is de-
creasing in the size of the electorate and is zero in the limit.

We now claim that, despite the fact that the turnout percentage goes to zero
in the limit, the correct candidate is elected. In other words, in large electorates,
information is efficiently aggregated.

Proposition 3 With private voting costs, the expected number of voters is unbounded
as the size of the electorate increases.

Proof. We will show that the limit of the expected number of voters, limy_ .., Nqy =
00. Suppose, by way of contradiction, that the infimum limit of ¢y is finite, that is,
limy o0 inf x>y Kqr < 00. Then there exists a 7" > 0 and a convergent subsequence
gy such that for all N large enough, ¢y < % This implies that, for all NV along the
subsequence that are large enough,

olav,N) = Fp=H[0-0+9)a) "+ 1 -1 =s)an)"]
> - [0-0+9 B T 0-0-98)"]
and since
lim [(1 — 1+ D) (1-(1—s) %)N*] — ()T | = (1=s)T

we have
lim ¢ (qn, N) > 1 (p— 1) [e0TIT 4 e~ (797T] > 0
But since lim gy = 0, the equilibrium condition (5) implies
lim ¢ (g, N) = lim F~! (gy) =0
We thus have a contradiction and lim Ngy = co. =

It now follows that,

Proposition 4 With private voting costs, the probability that in each state the correct
candidate is elected goes to one as the size of the electorate increases.



4 A Variation: Fixed Costs of Voting

In this section we consider a model in which the costs of voting are identical across
voters and commonly known.

We look for a symmetric mixed-strategy equilibrium in which each person goes
to the polls with probability ¢ and, when voting, votes sincerely. The calculations
regarding sincere voting conditional on going to the polls are identical to those in
Section 3. Furthermore, the calculations regarding the benefit of voting over not
voting are also the same. The only difference is that for each individual, this benefit
is equated to the common fixed cost ¢ of voting. We assume that 0 < ¢ < p — %

In a mixed strategy equilibrium every potential voter must be indifferent between
voting and not voting, that is,

Lp-) 0=+ - 1-99 ] =c (7)
Recall that s = /p(1 — p) and satisfies 0 < s < % This equation determines an
equilibrium probability of voting ¢y .

Once again let us denote by ¢ (¢, V) the left-hand side of the equation above. As
before, ¢ (¢, N) is decreasing in ¢, ¢ (0, N) = (p — %), ¢(1,N) =0 if N is even and
¢(1,N) = (p — %) sV=1if N is odd. Since c < p— %, there exists a unique gy € (0, 1)
satisfying equation (7) for N sufficiently large. Specifically, let N* be the smallest N

1

for which (p — 5) sN=1 < ¢. For all N > N*, there exists a mixed strategy equilibrium

in which the probability of voting ¢y < 1 and

¢ (qN7 N) =cC
We summarize this by

Proposition 5 There exists a symmetric equilibrium of the voting game with com-
mon fized costs that has the following features: (i) the decision of whether or not to
vote is random and the probability of voting is the same for all potential voters; (ii)
voting is sincere.

It is easy to verify that once again ¢y is decreasing in N and so, as in Section
3, the probability of voting decreases with the size of the electorate and furthermore
lim ¢ = 0. To summarize:

Proposition 6 With common fized costs, the equilibrium turnout percentage is de-
creasing in the size of the electorate and is zero in the limit.

But in contrast to Proposition 3 of Section 3, with fixed, common voting costs,
the expected number voters is not infinite.

Proposition 7 With common fixed costs, the expected number of voters reaches a
finite limit as the size of the electorate increases.

7



Proof. Taking limits in (7), we see that limy_,.. Ngy =T < oo where T satisfies

2c
P

m [(1-(1+5) 5"+ (1-(1-9 5] =

[\
o

6_(1+8)T+€_(1_S)T —

[

p_

The left-hand side has the value 2 at T' = 0, is decreasing in T and approaches 0 as
T — oo. The right-hand side is a positive number less than 2. Thus there exists a
T < oo which equates the two. m

It now follows that,

Proposition 8 With fized and common voting costs, the probability that in each state
the correct candidate is elected is bounded away from 1 as the size of the electorate
INCreases.
How large is the expected number of voters in the limit? Since e=(1=9)7 > ¢=(1+s)T"
we have
267(175)T > e*(lJrs)T + ef(lfs)T _

or equivalently,

lnp_%
T < &
1—s

A weaker bound can be obtained by observing that since 1 — s > % and p — % <

1
2
T < —2In2¢

This shows that 7' is quite small; it is of the order of —Inc.
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